
Multiplication et Division (C)Calculez chaque produit ou quotient.10 : 2 = 7 · 6 = 5 · 10 = 60 : 12 =16 : 2 = 77 : 11 = 24 : 8 = 6 · 10 =15 · 8 = 4 : 1 = 2 · 13 = 4 · 12 =14 : 14 = 120 : 8 = 24 : 4 = 4 · 3 =110 : 10 = 99 : 9 = 9 · 8 = 56 : 8 =7 · 11 = 1 · 10 = 28 : 2 = 72 : 6 =20 : 2 = 26 : 2 = 11 · 14 = 66 : 6 =88 : 8 = 10 : 5 = 4 · 9 = 10 · 2 =33 : 11 = 156 : 13 = 6 · 7 = 54 : 6 =9 · 6 = 13 · 3 = 132 : 11 = 2 · 4 =11 · 11 = 9 · 10 = 135 : 15 = 13 · 1 =15 · 11 = 99 : 11 = 3 · 7 = 54 : 9 =10 · 13 = 9 · 10 = 39 : 3 = 8 · 13 =52 : 4 = 28 : 4 = 4 · 11 = 180 : 12 =28 : 2 = 7 · 3 = 8 · 2 = 169 : 13 =13 · 12 = 121 : 11 = 8 : 1 = 8 : 1 =143 : 11 = 168 : 14 = 8 : 2 = 196 : 14 =8 · 8 = 144 : 12 = 96 : 12 = 36 : 4 =12 · 15 = 4 · 3 = 210 : 14 = 225 : 15 =15 : 3 = 12 : 6 = 10 · 10 = 15 : 3 =10 · 4 = 12 : 4 = 12 · 14 = 7 · 15 =11 : 1 = 3 · 2 = 45 : 9 = 6 : 1 =10 · 1 = 13 · 8 = 6 · 5 = 225 : 15 =1 · 14 = 225 : 15 = 64 : 8 = 60 : 4 =12 · 14 = 91 : 7 = 180 : 15 = 9 · 9 =Mathslibres.com



Multiplication et Division (C) RéponsesCalculez chaque produit ou quotient.10 : 2 = 5 7 · 6 = 42 5 · 10 = 50 60 : 12 = 516 : 2 = 8 77 : 11 = 7 24 : 8 = 3 6 · 10 = 6015 · 8 = 120 4 : 1 = 4 2 · 13 = 26 4 · 12 = 4814 : 14 = 1 120 : 8 = 15 24 : 4 = 6 4 · 3 = 12110 : 10 = 11 99 : 9 = 11 9 · 8 = 72 56 : 8 = 77 · 11 = 77 1 · 10 = 10 28 : 2 = 14 72 : 6 = 1220 : 2 = 10 26 : 2 = 13 11 · 14 = 154 66 : 6 = 1188 : 8 = 11 10 : 5 = 2 4 · 9 = 36 10 · 2 = 2033 : 11 = 3 156 : 13 = 12 6 · 7 = 42 54 : 6 = 99 · 6 = 54 13 · 3 = 39 132 : 11 = 12 2 · 4 = 811 · 11 = 121 9 · 10 = 90 135 : 15 = 9 13 · 1 = 1315 · 11 = 165 99 : 11 = 9 3 · 7 = 21 54 : 9 = 610 · 13 = 130 9 · 10 = 90 39 : 3 = 13 8 · 13 = 10452 : 4 = 13 28 : 4 = 7 4 · 11 = 44 180 : 12 = 1528 : 2 = 14 7 · 3 = 21 8 · 2 = 16 169 : 13 = 1313 · 12 = 156 121 : 11 = 11 8 : 1 = 8 8 : 1 = 8143 : 11 = 13 168 : 14 = 12 8 : 2 = 4 196 : 14 = 148 · 8 = 64 144 : 12 = 12 96 : 12 = 8 36 : 4 = 912 · 15 = 180 4 · 3 = 12 210 : 14 = 15 225 : 15 = 1515 : 3 = 5 12 : 6 = 2 10 · 10 = 100 15 : 3 = 510 · 4 = 40 12 : 4 = 3 12 · 14 = 168 7 · 15 = 10511 : 1 = 11 3 · 2 = 6 45 : 9 = 5 6 : 1 = 610 · 1 = 10 13 · 8 = 104 6 · 5 = 30 225 : 15 = 151 · 14 = 14 225 : 15 = 15 64 : 8 = 8 60 : 4 = 1512 · 14 = 168 91 : 7 = 13 180 : 15 = 12 9 · 9 = 81Mathslibres.com


